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- Expressions and Equations _|
‘Modeled Instrectlon

’DIRECTIONS Read each questlon and choose the best answer. Use the answer sheet provided at the end of
the workbook to record your answers. If the correct answer is not avallable, mark the letter for “Not.-Here.”

1. The librarian placed 42books on each of © . 2. Which expression has a value of- 47

5 shelves. How many books did the 11brar1an : , ,

place on theshelves altogether? . . 1 F 7+@Q -3)+4x4

A SO0books < ¢ G 3X(T-4X4+2

B 25bocks . . b Hf+axg-+as

c Wwhosks B B SRS

D. 16 books | | o @

S - A ' Hint - |
% ' B ' ' . Remember to apply the Order of Operatlons‘
Hlnt : - . , :
. : : when simplifying an expressmn

In the number 42, the exponent is 2 and 4 is - | 1) Parentheses
the base. The exponent tells how many times : - 2) Exponents -
a number is nsed as a factor. The base is the - : - 3) Multiply.and D1v1de from Left to Right
‘number being multiplied repeatedly. - . ' 4) Add and Subtract from Left to Right
#2=4%x4 =[]

' Find the number of books she placed on each -
. shielf. Then multiply by 5 to find the total. *
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| 71. ‘In Wﬁat quédrant is the point (—7, —2) located?
A Quadrant I N
B QuadrantII

C Quadrant 111
D Quadrant TV
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72. Each unit on the coordinate plane Tepresents
1 mile. How far is the grocery-store from the

drycleaners‘? .
le N T .
41— j‘
: Hair Salbn
R e g 278 4 x
: 1
2
: 3
Grocery A Dry | .
. Store -4 | Cleaners
F 3 miles
v G 7 miles
‘H+ 8§ miles
J 14 miles
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3,” There are 16 ounces in 1 pound. Which
expression gives the number of ounces in
_.ppounds? IR

A 16p
Brp—':»16
C 16+p

D :16_p

Hint
Tn mathématics, it is assumed thatthep * -
actually means 1p and it is not necessary to
wiite the 1, Por this reason, we can write 16p

* and it means 16 X 1p. This formula aliows

~ you to multiply 16 times any number of

- pounds to find the number of ounces in that .

* purnber of pounds.

4. -The length of a swimming pool is 5 feet_shorfér
~ than twice the.\width. Let ri represent the width.
Which expression gives the length of the
swimming pool? - -
F 2n+ 5
G 2n—5
H 201 —5)

J 2Ant+5

Hint

| ~You know that n repfesents the width. The

\idth is 2 times the width minus 5. Replace

the word width with 7 to decide on the
correct expression. ' ‘
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5, How many terms does this expression have? .

e —f

Hint .
The terms of an expression are separated by
~ aplus sign or a minus sign. - B

6. Which of the following describes a part in this :

‘ expression?

12X 6+ @X—T

" F the difference of 8 and 7
‘G the sum of 6 and 4
H the quéti_ent of4and8

J the product of 12 and 6

Hint

You must atways work inside the parentheses |
‘pefore other operations. Once you have '

multiplied the factors inside the parentheses,

then you cai add and subtract from left to
 right. ‘ '
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7. ‘What is the volume of a cube with a side length 9. _Nicolés bought é pait of sandals for $27.00, four
© ofding o ~ shirts, and a jacket for $54.00. To find the tota] ~ -
27 _ ‘ ‘ 7 . cost in dollars, he wrote 27 +ds+ 54 = 2? +54
A % cubic inch A - - -+ 4s. Which property does the equation show? -
’ A Identi
B 'é‘ inch dentity Properl:y of 1 -
| L _ o - B Distributive Property of Multiplication over -
C 1% cubic centimeters. R - "Addition ' :
D lécentimeters ) _ ' S o . C Associative Property'.bf Addition

D Commutative Property of Addition

Hint . o - E
You can use the fo_rmlﬂa V'=5°to find the D A Hint

volume of a cube, This forrnu_Ia means
§ X 5 X 5. You can use 53 because all the
faces of a cube have the same side Iength.

The Commutative Property of Addition
states that changing the order of the addends
does not change the sum. The Associative

- Property of Addition states that moving the
grouping symbols of an addition express’
does not change the sum,

- 8. The éxpression 180(n — 2) gi_vés‘ the sum of the
' measures of the angles, in degrees, of a polygon
with n sides. What is the sum of the measures of

the angles in a pol ith 10 sides? L I 5
s mapo yeonw S_I % 10. An artist bought p large tubes of paint for $25.00

F 1,080 degrees ' . | eachand p small tubes of paint for $15.00 each.
) ‘ : The expression p X 25 + p X 15 gives the total ,
G 1,440 degrees . ‘ T 1 cost, in dollars, of the tubes of paint. Which

H 1,880 degijees shows another way to v_vrite this exprcssibn?

o F p(25+ 15).
J 2,160 degrees - - PESHIS)
‘ -G p(25 X 15)
: B p@5xp) +15
Hint - .
‘ L 25 +
When a number is placed directly outside a J ) P@3 + s
set of parentheses, it means that youmust :
- multiply that number times the result in the ‘
parentheses. o ' . " Hint
The letter p represents the number of each
item that was bought. You can see thatp
is to be multiplied by both 25 and 15, You
can write a simpler problem by applying the
Distributive Property of Multiplication over
Addition. - o
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11. Which equatlon uses the D1str1but1ve Property fo 13 After spendmg $5 25 ona magazme, Terry has
express the sum of 45 and 54asa product'? $16.75 left. The equation m — 5.25 =16.75 can
' a be used to find the amount of money, m, Tetry
~had before purchasing the magazine. Which
amotint is a solution of the equatlon‘?

A OX 5)X (9 X 6)
B 4+ 5) X .(.5 +'4)‘
C 59 +6) A m=$2200
D IG+E) m=$11.50
“ L ..m = $9.00

m = 5825 -

4 Hint

- Think of a common factor of both 45 and -
_ 54.-Place that commion factor ouitside the.
parentheses. Then think of the other two

% Hlnt

factors and place them as a sum inside the | _ o Think about working backward Start w1th
parentheses. _ : ' the money Terry had left and- add the amount
o ‘ ' L ' she spent. Check your answer by subtracting
17 Which cxpression is equivalen’t t03(h+2) — h? , R 12 25 to see if $16.75 is the amount left.”
CF R + 6 , - 14 Motorists must travel at a speed no more than
G 2%m+6 . E : 25 miles per hour in a school zone. The -
o - ‘ o S mequahty §=25 represents the permitted
CH h+2 ‘ _ , T speeds. Which number is NOT a solution of
o ‘ 3 ' : - the mequahty" ' ' -
J 2n+2 {
F s =15
, L A G s=20 -
Hmt o ﬂ ‘H s o o
, §=25 .
Begm simplifying by mulnplymg Itimes .| ‘ 7
both k and 2. Ther subtract /. Since the last - F s=30
" K is separated by a minus sign, subtracting it
will be the last step.” '
| | Hint
“The symbol =< means “less than or equal t0.”
This means the driving speed allowed is
25.miles per hour or less.
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- 15. Bill must score at least 85 ppoints on his final

' test to geta B in social studies, The inequality -
P'= 85 represents the possible number of points,
D, that he can score. ‘Which number is a solution

_of the inequality?
A p=92
B p=384
C p=80
D p=175

~ Hint

The symbol = means * ‘greater than or equal
.~ This means the score Bill makes must be
: equal to 85 or greater. o :

- 16. A builder needs 3 bolts to install each door. The
expression 3d gives the number of bolts needed
to install 4 doors. Which best descnbes the value
of the variable 4?

F  asingle unknown number
G any positive number
H any positive counting number

J any integer

Hint
" Think ‘about what is mcluded in each number
description..

* A single unknown number includes negative

numbers or fractions and decimals.

* Any positive number includes whole

- numbers, fractions, and decimals.

* Any positive counting number includes -
whole numbers only. -

* Any integer includes negative numbers.
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‘ 17 Don wrote thc% expression 54 less than the

product of 7 and 15, What algebraic expression
did he write? What is the value of the expressmn
form =177 :

A Sam+15.393
B 15m + 54: 150
C 15m—54;51
D

54m — 15; 363

Hint

54 less than a product means subtract 54
from a product

The product of m and 15 means mu1t1ply the
- two terms. :

When you muitiply m and 15, the result i-
a product.

18. A driver travels 150 miles in A hours. Whlch best
describes the Value of h?
F  asingle uuknown numuer
G alny nonnegative uuji]ber .
H any whole number

J any integer

A Hint

Since hours is a unit of measure, it can be
measured in whole numbers, decimals, or
fractions; However, it cannot be measured i in
negative numbers '

Expressions and Equations
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19, Kendra was born in 1990. Her cousin Melody S R During a- school fundraiser, Dominic sold
was born 11 years after Kendra Which equation tumblers for $12.00 each and earned a total of
could be used to find the year in Whleh Melody - - $324.00. Which equatlon could be used to find
was born? - - . the number of tumblers t Dommlc sold?
A yx11=1990 . A fX12—324'

y + 11 =1990 2= 32

B
C y+11=1990 125324
D

_y—‘-11=1990 : 1—12=7324

Hint

Hint :
. The most: straightforward way to-solve this E . Use the mformauon in the problem to wrlte a
|is 1990 + 11 = Melody’s birth year. But that . word equation. ‘ ,
is not one of the answer choices. You know . number of tumblers X $12IOO = total amount

that addition and subtraction are inverse .
operations; Thinking about that will help you
find the correct option. - -

20, Deena adds 1% cu}js of oats to‘seme flour to
make 43 cups of bakmg mix. She salves the
equatlon f+ 1 =43 3 to find the amount of

flour, f; in the bakmg mix. How much flouris in

the bakmg mix?.
F 12 cps . H 3L cups
G 231— cups - 6% cups’

Hint

. The given addition equation is the situation -
equation. It matches the structure of the
problem. Think about how you can use an
iniverse operation to solve the problem

f+1%—43
312 -
43-12=f
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22 A freight car can ‘carry no more than 125 tons of
cargo. Which mequahty represents the number
of tons, £, that the frelght car can carry?

F <125
G r>125
H r=125

Y oi=105

.. Hint .

You‘ caﬁ think of a number line.

4 - f | a i r | I L
]
120 121 122123 124 125 126 127 128 129 130

.
r

No more than 125 tons means 125 tons or any
amount less than 125 tons.

As you move to the left on a number line, the
_ numbers get smaller.
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23, Atleast 10 people haVe to be registered for
- art classes at the community center, or the art
classes are cancelled. Which inequality shows
this situation?

A r>10

B
C r< 10
D

Hint . ,
At least 10 people means 10 people OF more.

Which symbol means ‘equal to or greater
than?

Expressions and Equations
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~The graph beloW shows the cost of buying comi¢ :

books from an online retailer. The shipping

.charge is always the same no matter how many

comic books are purchased. Use the graph for
' questions 24 and 25.

N E -
15 .

14 L4
.13 i .
12— +

——h
—
L
—
Py
3
e
e

)

Total Cost (in dollars)

S - DWW hROONQOO
,"J'f
bk
an

123 4n
Number of
CQmic Books

24. What is the shippipgr cost? |
F $5.00
‘G $3.00
H $2.00
J §1.00

Hint

You can see that the y-axis represents all
. costs. The line starts at $2.00 because the
-shipping cost is always the same,
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25 Which- equatlon represents the total cost in
"~ dollars, ¢, for n comic books? '

A "c——=3n+2

B c=24+3

‘ C ¢=3n - T
D c=2 o |

ﬂ Hint- . _
The graph shows that 1 comic book W1th
" shipping costs $5. 00. You can subtract the
shipping cost to find the cost of 1 comic

‘book. To find the fotal cost you can write a
word equation. - '

Total cost = Cost of 1 comic book X p (total
nunber of comic books) + shipping cost.
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26, Kris Sends an e-mail to 5 people, and each of

217.
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. What is the value of 62 ‘ ¢4

‘lndependent Practice

N IRECTIONS ‘Read each questmn and choose the best answer, Use the answer sheet pro
wurkbook to record your answers. If the correct answer is not available, mark the

those people, will send the e-mail to 5 more

peoﬁle, and so'eg. Which expression shows the

number of people ho will have received the
~e-mail at the end of thahi

F 5x3
G 3

H 5°

T 3x5
Which expression has é value of 247
A 4tz | |
B 42+
C @d+2p
D 42— 2

C 5+ 42

62

. expressig

. A store clerk placed' 4? plates into each of § boxes.

How many plates did she put in boxes in all?
F 16 plétes o

G 3ﬁ plates

ﬁ 128 plateé

J 25 6' plates

. ndrick makes birdhouses. It takes him

iputes to make a birdhouse. What is an _
1 that shows how long it takes him to
make 7 birdk,
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